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I Read the following sentence and answer the question. [X#EZ A T, BREICEx X.]

(H.Horio,2005. Innovation Consciousness of a Farmer - Proposal of New Concept -, Efficient Use of Farm
Machines and Related Technology Dissemination in Southeast Asia)

(1) Select the type that corresponds to the categories i to iv in Fig. 1 from the following.
(R1Di~ivOh TN —IZBEYTE XA TR T LES,]

i ii iii v

(2) What type of Early Majority is it ? Explain with the types of Innovator and Early adopters.
[Early Majority X ¥ @ & 5 72% 4 7>, Innovator 3 & Uf Early adaptor @ % A 7 & & HICHAE L(AARETH ). ]

[CEEFAT, BEICELL]

II Read the following sentence and answer the question.

(CODEX ALIMENTARIUS,2020. GENERAL PRINCIPLES OF FOOD HYGIENE CXC 1-1969, CODEX ALIMENTARIUS)

(1) In the following @ to@, mark the correct ones with O and the incorrect ones with.

[ULTFToOQ~@ORAETELWVHDIZIZO, BhiE-TWA b X214, ]
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IM. Read the following article and answer each question below. ROILFEFFA T, HBIZE LRIV

Reference: Math for Scientists, Refreshing the Essentials, N. Maurits, Springer International Publishing, 2017; modified.

(1) Please refine the following words correctly to complete a sentence to fill the blank (A). [ TRRommEt UL T, 2
W (A) ItABRXEETE. ] /be / apart / to / measured/ far / with / too /
Ans.
(2) Write the appropriate word in the blank (B) ~ (F). [z (B) ~ (F) Y CikEs@d i liEsiEs. |
Hi.’ g G T b
E: . F:
(3) Calculate the height of Martini Tower. [ Martini Tower OF & FFHE LA ZW, ]
Ans.
(4) Show the mathematical approach that you have mainly used in your research.

[ H-OWETAVIEENFELZEB TR LEE N, ]
Ans.

IV. Write the word (s) whose meaning agrees most with each sentence. [ EHCHBERT HHEFEHEE 2SIV, ]

Source: Cambridge Dictionary: https://dictionary.cambridge.org
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1. BoTWaAl¥aRy b& 5 2%FREv. BEnKRy b LIXTH (EFE) 2EIRIV.
Answer 5 agricultural robots and the definition of agricultural robot.
MEoRy b ( )« )« )
( ) ( )
B¥oRy hOEE !

_______________________________________________________________________________________________________________

2. ROF—U—FErL2THAWT, B¥oRy bOWMEL7 e /7 I VOFERIZOWVTHRALZ SN
F—U—F: BEoRy b, BY—, FTrFaxz—F, B, H#@, FoFF5 I, Python, Al
Explain the configuration of agricultural robots and the use of programming using all the following keywords.

Keywords: agricultural robot, sensor, actuator, recognition, control, programming, Python, Al

3. bviR#ErRy bOTE—-Fr— (HhE) E#ERE.

Draw a flow chart of the tomato harvesting robot.
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[. fREHS VAV iV F A7 b A ZHEBICRBWT, BAMECROE=4) 7 (1) FRZEALS PLERE

PHET, 2) FoAH=XABLY, (3) BREXKICOWTEREY X,

I GIS7—%ty beLTHERAENTVDITRAFZ—T—FIZONT, (1) 2OTF—F#iE, (2) EBRICRE - AMEh TS

T=Fty FOAHREARO—RIB LY, (3) F—F OFERMTHIC >V THRAYE X,

0. BRI7T—ZIZEHEMORRBROE=F ) L Z72ITVEVEES, (1) Yok3427F—4%% (2) Yo k52McmEL,
(3) EDX5R2MFEATS &N, REMRE=F) 7 EME | ST TRBE K.

V. BRD2H 5 F5Ho 1 ERIZLRAENTWS, UTM EERO (1) #F#e, (z)ﬁﬁrﬁﬁcﬁﬁ‘é%i& (Zone), F7z,
(3) BEATHHAENTWAHIHFR (Datum) 2Tk~ L,
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Rl BEAMEE g (m/sD, AR Hm), FHE vim/s)EBNT, MARBICET AL ¥ —EmEHb5bTRELE,

iz, 8 B m), KiEH (m)OESHHROMARICENTHE @ (m¥s) B —E Th= R V¥ —F (m) &K H(m)EZE{LS#T
KEG LIRS OBRKE Helm) & H 5 b\ HERBT L, AL, ZoRTRKAICEAIMEE g(m/s?), KERE Bm), 7
ikt @m3¥s)THHT &,

2 MERABEEECBOTRIE: OMMICEET 5222 L LTREEED 5 RARSH 5,
ZITRENTVWS 5 2OBMEERIZOWTRAR X,

M3 KRESICIZ3TEOMHMAHANH D, ELEhOHT >V TRAT L,
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(A)

. H#%&Ez

(M (A)~()) YTl E 3B AEEL R E &> Write the appropriate word in the blanks ( A )~(]).

-

, (B) , (©

(Source: Terry Phillips et al (2005): Integrated Technical English, Seibido Inc.)

T, LUFOXREE A TRMICE X/ &V . Answer the question based on paragraphs and figure below.

, (D) . (E)

(F)

() . (H)

, (D )

V. UFORICRT A & B OBIREZHIFE TR LA 0,
(1)

Explain the relationship between A and B of following diagram briefly,
(3)
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L MoTWaRED Ry k% 52857 0, ¥ oFEy Moz rok s TR B B DA Rk LA &,
Please answer 5 agricultural robots and what kind of problems the agricultural robot has.
B¥aRy b ( J ( )« )
( ) ( )
B3R Ry MBS IReE -

2. KOF—U—FE2THNT, B¥oRy FOBRBE® LA S0
FoU—F:BEaRy b, ¥o¥—, FrFaz—F BE, B\ 7o F2L, Al
Please explain the agricultural robot using all of the following keywords.

Keywords: agricultural robot, sensor, actuator, recognition, control, programming, AT

3. EBEBRLLTREZ4AETIHE, Y0ks RN D 5RO — T — K@ THALTEE LA S|
F=U—F:7—FuX, 2= EE, THL¥—, REMNT, Hi
When producing insects as an alternative protein, answer what kind of research issues we have by using all of the
following keywords.
Keywords: Food loss, smart production, energy, food processing, market
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1. Digital Elevation Model (DEM) 758 % ¢ 5 WAL 2 2 5%, 20 5 & BN AT IR I, NURRRRH L

II. %#y%—htyvyf&mmy%—btvvyfmiw%m&,%#U%—hfyvyf?mwenaﬁﬁ%loﬁm
%@ﬁ&ﬁﬁ%a&&@m(xﬁ:XA)&ﬂmﬁﬁnowrﬁﬁﬁx

L. GIS fR#Fiz 17 5, TA—E 58 (Fa /A% L IDW ZER A IRE, ThEhIT > TR L, BERFEOE TSN
TR L.
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wD 3MOBWIZE X L,

i1 V=V I DPGHEARERBT D L &bz, ZOARTHV SNSRI b ORITICOVTHRBE L.

2 )74 2000HARMZ RO 5ARERE RSV, 28, RCAVETAT 72y M, B2 MW TR X,

13 MHCPRRTEROKBEERTET B BRI AR 15 5, REOZAKISEEFISET S L L bz, TREROKTBIEOHE
iRk,




